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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777
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™ at 11:30 AM

Thank-you Madam for this Amazing Class Session of today's.. p __ Nabanita De 21 hours ago

And ¥ H.W-clockwise direction-PWUSQRVT).Corner-PVQU Middle-WSRT.thank u ma'am.
My Solution for today's homewaork is like-
PWUSQRVT(in clockwise direction from P)... o & REPLY

Read more * View reply from Mahendras : Online Videos For Govt. Exams

Mohit.. 22 hours ago

oy GR REPLY
debasish chakraborty 22 hours ago

v View reply from Mahendras : Online Videos For Govt. Exan o Homework : PWUSQRVT
Middle : WSRT
shubhangi mishra 22 hours ago Corner : PVQU

H w ans. Corner sitting-VPUQ THANK YOU MAM.

Middle sitting-RTW S
thank you ma'am

v I REPLY

v View reply from Mahendras : Online Videos For Govt. Exan o Niteesh Kumar 15 hours ago

Corner- vpuq
Shalu Jaiswal 13 hours ago Middle - twsr

HW- 5 GP  REPLY
Starting from V sitting at the corner in clockwise direction

Middle(TWSR)
Corner(VPUQ)

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

b SP  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Sudipta Bhowmick 11 hours ago

Homework ans- clockwise - PWUSQRVT

MIDDLE FACING - RSWT
CORNER FACING- PVQU
thank you so much maam %%

o GRH REPLY

+ View reply from Mahendras :

Aasu singh 17 hours ago
Homework answer
Clockwise sitting arrengment
PWUSQRVT

Middle = WSRT ..

Read more

v s REPLY

« View reply from Mahendras :

Mahasweta Patra 15 hours ago
Homework

Middle-W,S,R, T
Corner-PU,Q,V

o &GP REPLY

+ View reply from Mahendras :

Online Videos For Govt. Exams

Online Videos For Govt. Exams

Online Videos For Govt. Exams

L

A

Sonam Pundir 22 hours ago

Hw. CORNER. UQVP
MIDDLE. SRTW

THANKU MAM (22

gy 1 GF REPLY

v View reply from Mahendras :

Deepali Rajlani 22 hours ago
Answer for homework

At the corners clockwise- PVYUQ
At the middle- WTSR

b GF REPLY

+ View reply from Mahendras :

Akanchha Srivastava 15 hours ago

PWUSQRVT
Middle-WSRT
Corner-PUQV

b GF REPLY

+ View reply from Mahendras :

Suman Paul 22 hours ago

Middle - WSRT
Corner - PUQV

o &P

v View reply from Mahendras

REPLY

Online Videos For Govt. Exams

Online Videos For Govt. Exams

Online Videos For Govt. Exams

: Online Videos For Govt. Exams
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Eight persons—-P,Q,R,S, T, U, Vand W are
sitting in the square table such that all of
them are facing towards the center. Four
persons are sitting in the middle of the sides
of the table and four persons are sitting at
the corner of the table. All the information is
not necessarily in the same order. P sits
second to the left of V, who sits at one of the
corner of the table. W sits either to the
immediate right or to the immediate left of P.
S sits opposite to the one who sits second to
the left of R. R sits in the middle of the sides
of table. S is neither the immediate neighbor
of V nor P. T is the immediate neighbor of

either of P or U, but not the both. Q sits

' second to the left of U.
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Eight persons—-P,Q,R,S, T, U, Vand W are
sitting in the square table such that all of
them are facing towards the center. Four
persons are sitting in the middle of the sides
of the table and four persons are sitting at
the corner of the table. All the information is
not necessarily in the same order. P sits
second to the left of V, who sits at one of the
corner of the table. W sits either to the
immediate right or to the immediate left of P.
S sits opposite to the one who sits second to
the left of R. R sits in the middle of the sides
of table. S is neither the immediate neighbor
of V nor P. T is the immediate neighbor of
either of P or U, but not the both. Q sits
second to the left of U.
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In which of the following combination both the persons
are facing towards each other? A. URB. WS C. PQD. TV E.
RP

Four of the following five are alike in a certain way and
hence form a group. Who among the following person
does not belong to that group?

A. S

B. The one who sits to the immediate right of V

C. The one who sits second to the right of W

D. W

E.Q

Who among the following person sits opposite to the one
who is third to the left of Q? A. The one who sits to the
immediate right of W B. P C. W D. The one who sits to the
immediate left of UE. T
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Who among the following person sits opposite to U?
A.V

B. The one who sits second to the right of P

C. The one who sits third to the left of S

D. The one who sits to the immediate left of R

E. All of the above

If all the persons are arranged in alphabetical order in the

clockwise direction with respect to P, then how many

persons remain unchanged in their position (Excluding P)?

A. 1

B. 2
3

(of
D. More than Three
E. None
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313 sfed- P, Q, R, S, T, U, VIR W Eight persons- P, Q, R, S, T, U, V, and W are
qPR ﬁﬁrug.qmlq E% %ﬁ??ﬂ? standing at the square table such that four
GaE . % 3R IR e A persons stand in the corner and four persons

‘l-ﬁ%aﬁa?waﬁ stand in the middle of the table. They are all
| SI=I1 qﬁ%ﬂ"-ﬁ facing outside of the table. All the
wﬂﬁﬁﬁl TW %E‘T&ﬁ information is not necessarily in the same
WWWE@T%ﬁéWﬁ%ﬁ order. T stands third to the right of W who
. Had Udh stands at the corner of the table. Only one
TJEI'%E??T v, P %W’\ﬁ?ﬂﬂ%w person stands between W and S.V stands
WE??T%I p3fiTw ﬁmq_éﬁ?ﬁél third to the left of P. P and W are immediate
Vv \’rﬁT X3 @?E@'W%ﬁﬁﬁ ST neighbours. The number of persons stands

B?F'ﬂg)f%ﬁlﬁ:ﬁ Y 3R U %@?{E@i between V and S is the same as the number
T!Iﬂ'\‘I@T%I Q'_-[T'ﬁ USIRH of persons stand between V and U. Q neither
I -

VP WE@T% ‘5“00 ’, stands adjacent to U nor V.
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Eight persons-P,Q, R,S, T, U,V, and W are
standing at the square table such that four
persons stand in the corner and four persons
stand in the middle of the table. They are all
facing outside of the table. All the
information is not necessarily in the same
order. T stands third to the right of W who
stands at the corner of the table. Only one
person stands between W and S.V stands
third to the left of P. P and W are immediate
neighbours. The number of persons stands
between V and S is the same as the number
of persons stand between V and U. Q neither
stands adjacent to U nor V.
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Who among the following person stand opposite to
Q?

A. W

B. The one who stands second to the right of V

C. The one who stands immediate left of U

D.P

E.T

Who among the following person sits middle of the
table?

I. The one who sits immediate left of R

Il. The one who sits oppositeto T

lll. The one who sits second to the right of P

IV. S

A.Onlylland IV B. Only Il and lll C. Only lll and IV
D. Only I and Il E. None of these
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If all the persons are arranged in alphabetical
order from P in clockwise order, then how many
persons remain unchanged in their position
(Excluding P)?

A. None B. One C. Four D. Three E. Two

How many persons sit between S and T when
counted from the right of S?
A. Three B. Two C. Four D. One E. None

Who among the following pair of persons are

immediate neighbours?
A.UWB.SPC.VRD.TUE. RQ
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3 gHHIGR Ufraal A IRE Aafei 9 2|
GfRi 1-B, D, E, G, | 3R k ¥ safeaal &1 g
R R R SR URT2-A, C,F, H,J,
3R L & fa) o1 g IuR &1 SR 2

Twelve persons are sitting in two parallel rows.
The personsinrow 1-B,D, E, G, |, and K are
facing towards south and the persons in row 2 -
A, C, F, H,J, and L are facing towards north, but
not necessarily in the same order. The person,
who faces D, sits third to the right of A. Only
one person sits between A and H. G sits second
to the right of B, where neither of them faces A
nor sits on the extreme ends of the row. C sits
on the extreme end of the row but doesn’t face
D. Only one person sits between L and F, who
neither sits adjacent to C nor A. K sits to the
right of | but neither faces C and L nor sits on
the extreme ends of the row.

A

. . -
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Twelve persons are sitting in two parallel rows.
The personsinrow 1-B,D, E, G, |, and K are
facing towards south and the persons in row 2 -
A, C, F, H,J, and L are facing towards north, but
not necessarily in the same order. The person,
who faces D, sits third to the right of A. Only
one person sits between A and H. G sits second
to the right of B, where neither of them faces A
nor sits on the extreme ends of the row. C sits
on the extreme end of the row but doesn’t face
D. Only one person sits between L and F, who
neither sits adjacent to C nor A. K sits to the
right of | but neither faces C and L nor sits on
the extreme ends of the row.
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Four of the following five are alike in a certain
way and thus form a group as per the given
arrangement. Which of the following one does
not belong to that group?a)Db)Cc)Fd)Ae)E

How many persons sit to the right of I? a) One b)
As many persons to the left of C c) Three d) As
many persons to the left of H e) No one

Who among the following person faces A?

a) D

b) The one who sits to the immediate right of |
c)G

d) The one who sits second to the left of E

e) None of these
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How many persons sit between J and the one
who faces D? a) One b) Two c) Three d) Four e)

No one

If E is related to A and B is related to F in a certain
way, then who among the following person is
related to L?

a) The person who sits to the immediate left of K
b) The person who sits to the immediate right of E
c) The person who sits to the immediate left of E
d)D

e) BothC&D
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A certain number of persons are sitting
around a circular table. All of them are
facing towards the centre. Distance
between any two adjacent persons is the
same. C sits fifth to the left of H. B is an
immediate neighbour of H. E sits three
places away from B. More than one person
sits between E and H. A sits three places
away from G who sits four places away
from B. D sits to the immediate right of A.
At most 16 persons sit around the circular
table. A sits fifth to the left of C. Only two
persons sit between C and F who sits
adjacent to B.
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A certain number of persons are sitting
around a circular table. All of them are
facing towards the centre. Distance
between any two adjacent persons is the
same. C sits fifth to the left of H. B is an
immediate neighbour of H. E sits three
places away from B. More than one person
sits between E and H. A sits three places
away from G who sits four places away
from B. D sits to the immediate right of A.
At most 16 persons sit around the circular
table. A sits fifth to the left of C. Only two
persons sit between C and F who sits
adjacent to B.
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Who among the following person sits second to the
right of E°PA)HB)BC)FD)DE)C

How many persons sit between B and D when counted
from the left of D? A) Four B) Six C) Eight D) Seven E)
Five

Who among the following person sits in the middle of
Cand G?A)DB)FC)BD)HE)BothAandC

Which of the following statement is/are not true? A) H
sits exactly between G and E B) A sits to the
immediate right of D C) F sits fourth to the right of C
D) Both A and B E) None is True

How many persons are sitting at the circular table? A)
14B) 16 C) 12 D) 15€E) 13
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A certain number of persons are sitting in
the circular table facing inside. There are
more than eleven persons sit around the
table. P sits second to the right of X. Two
persons are sitting between X and M. Only
one person sits between P and V. L sits
third to the right of V. G sits immediate
right of L. The number of persons sits
between V and P is one less than the
number of persons sits between G and M
when counted from the right and left of P
and M respectively.
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A certain number of persons are sitting in
the circular table facing inside. There are
more than eleven persons sit around the
table. P sits second to the right of X. Two
persons are sitting between X and M. Only
one person sits between P and V. L sits
third to the right of V. G sits immediate
right of L. The number of persons sits
between V and P is one less than the
number of persons sits between G and M
when counted from the right and left of P
and M respectively.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

How many persons are sitting in the table? A. 15 B. 12
C.13 D. 14 E. None

What is the position of G with respect to M? A. Third
to the right B. Fifth to the right C. Fourth to the left D.
Second to the right E. Third to the left

If G is related to M, V is related to L in certain way,
then who among the following person is related to X?
A. The person who sits second to the left of V B. The
person who sits immediate left of P C. M D. V E. None
of these

How many persons are sitting between L and X? A. 4 B.
3C.7D.6E.5
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A certain number of people are sitting in a row
facing North. C sits at one of the ends and
there are two people between C and B.There
are as many people to the right of G as there
are to the left of G. F is third to the left of B
who sits fourth from one of the extreme ends
of the row. A sits at one of the extreme ends
of the row. F does not sit at any of the extreme
ends of the row. There are five persons sitting
between A and D. E sits exactly in the middle
of A and D. Two persons sit between D and G.
There are as many persons sitting between F
and C as many are sitting between F and D.
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A certain number of people are sitting in a row
facing North. C sits at one of the ends and
there are two people between C and B.There
are as many people to the right of G as there
are to the left of G. F is third to the left of B
who sits fourth from one of the extreme ends
of the row. A sits at one of the extreme ends
of the row. F does not sit at any of the extreme
ends of the row. There are five persons sitting
between A and D. E sits exactly in the middle
of A and D. Two persons sit between D and G.
There are as many persons sitting between F
and C as many are sitting between F and D.
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Who is sitting third to the right of F? (a) D (b) C
(c)A(d)B(e)E

Who sits between Fand D ? (a) G (b) E (c) B (d) F
(e) None of these

How many persons sitting in a row? (a) 20 (b) 19
(c) 23 (d) 14 (e) None of these

Who among the following person sits sixth to the
right of G? (a) F (b) B (c) D (d) C (e) None of these

How many persons are sitting between D and C?
(a) 9 (b) 13 (c) 10 (d) 12 (e) 11
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A certain number of persons are sitting in
the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between Q and P. Six persons sit between
W and V. R sits forth to the left of S. U sits
between S and T. V sits second to the
right of U. W is third from any of the end.
S is eight from the left end of the row.
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A certain number of persons are sitting in the
row. All of them are facing towards south. Q sits
sixth from the right of S. T sits forth to left of Q.
Only two persons sit between Q and P. Six
persons sit between W and V. R sits forth to the
left of S. U sits between S and T. V sits second to
the right of U. W is third from any of the end. S is
eight from the left end of the row.
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How many persons sitting in a row? (a) 20 (b) 17
(c) 23 (d) 18 (e) None of these

Who is to the third to the right of Q ? (a) W (b) V
(c) P (d) S (e) None of these

Who is to the immediate left of P? (a) W (b) Q (c)
T (d) S (e) NONE

Who is third to the right of S? (a) T (b) W (c) V (d)
R (e) None of these
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